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QUESTION 1

Given: What needs to change to make these classes compile and still handle all types of Interface Worker?

public interface Worker |
public woid doProcess():
!

and

public class HardWorker implements Worker |
public void doProcess() {
Systam.out.println("doing things");
}

and

public class Cheater implements Worker |
public void doProcess() { }
H

and

public class Main <T extends Worker> extends Thread { // Line 1
private List<T>» processes = new ArrayList<>({); f/ Line 2
public woid addProcess(HardWorker w) { S/ Line 3

processes.add(w) ;

t
public woid runi() {

processes. forEach((p) -> p.doProcess());:
}

A. Replace Line 3 with public void addProcess (Worker w) {.
B. Replace Line 1 with public class Main extends Thread {.
C. Replace Line 2 with private List processes = new ArrayList();.

D. Replace Line 3 with public void addProcess(T w) {.

Correct Answer: D

Latest 120-819 Dumps | 120-819 Practice Test | 1Z0-819 Exam Questions


https://www.geekcert.com/1z0-819.html
https://www.geekcert.com/1z0-819.html
https://www.geekcert.com/1z0-819.html

VCE & PDF https://lwww.geekcert.com/1z0-819.html

GeekCert.com

QUESTION 2

Given:

public interface TestInterface {

default void samplingProbeProcedure () {
probeProcedure () ;
System.out.println (™Collect Sample”);
System.out.println (“Leave Asteroid”);
System.out.println (“Dock with Main Craft”);

}

default void explosionProbeProcedure () {
probeProcedure () ;
System.out.println (“Explode”™)

Examine these requirements:
Eliminate code duplication.
Keep constant the number of methods other classes may implement from this interface.

Which method can be added to meet these requirements?

A. private default void probeProcedure() {
System.out.println("_aunch Probe");

System.ocut.println{"land on Astsroid™}

}

B. static wvoid probeProcedure () {
System.out.println("_aunch Probe");
System.out.println("land on Asteroid”) ;

}

C. private wvoid probeProcedure () {
System.out.println("Launch Probe");
System.out.println({"Land on Asteroid");

}

D. default woid prcbeProcedure () {
System.out.println("Launch Probe");
System.out.println{"Land on Asteroid");

A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: B

QUESTION 3

Given the code fragment: What is the result?

8. public class Test {

0, private final int x = 1;
10. gtatic Final int v;

11, public Test () {

12. System.ocut.print (x);
13. System.out.print (y);
14, }

15. public static wvoid main{String argslil) {
16. new Tast();
17. }
18. )
Al

B. The compilation fails at line
C.10

D. The compilation fails at line 16.
E. The compilation fails at line 13.

Correct Answer: E

QUESTION 4

Given:
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class Worker {
private boolean finished = false;
public veid consumeResource (Resource resourcs) {
while(!resource.isReady()){
System.out.println("waiting for a resource"):
try {
Thread.sleep (1000} ;
} catech {InterruptedException e} |
e.print8tackTracel)};
}
}
setFinished (true) ;
}
public boclean isFinished() {
raturn finishad;
b
private wvoid setFinisghed (boolean finished} |
this.finished = finished;

i

And the code fragment:

Resource resource = new Hesourcel) ;s

Worker worker = new Worker():

Thread tl new Thread(() —> resource.processWork (workerxr)):
Thread t2 new Thread(({} —» worker.consumeBesource (rescurce) ) ;

tl.start():
t2.s5tarc(};

Which situation will occur on code fragment execution?
A. Livelock

B. Deadlock

C. Race Condition

D. Starvation

Correct Answer: D

QUESTION 5
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Given:

class Scope |
static int myint=666;
public static woid main{String([] args) {
int myint = myint:
System.out.println (myint);

Which is true?

A. Code compiles but throws a runtime exception when run.

B. It prints 666.

C. The code compiles and runs successfully but with a wrong answer (i.e., a bug).
D. The code does not compile successfully.

Correct Answer: D
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